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fol the questions.

PART - A

l. Choose the correct answer :

(a) The value of i2r is

1x5:5

(i) -l (ii) I

(iii) i (iv) -i

O) If nc2o : nCo, then the value of n is

(i) 4 (ii) 16

(iii) 20 (rg 24
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I
(c) The number

(i) 12

(iii) I I

(d) The value

(i) 4

(iii) 3

(e)

2 s/Sc- I 02/!{aths,I(N)

of terms in [*t * !')" is\ x)

(ii) l3

(iv) l0

of log,ol000 is

(ii) I

(w) s

o5l lg2s ll
4 lJ' B : l+ 4s lJ and

o ro/21
4 r J theru

(ii)A:C

(iv) A * B *C

Il
rf A: 

Lz

lstzc : lrrz
(i) A: B

(iii) B : C

Q)



2. Fill in the blantc : I x5:5

(a) The value of sin(-1305") is 

-,(b) If sec e : l, then tan e is 

--.(c) If the polar co-ordinates of a point are

[t, l]. then the Cartesian co-ordinates are\'2)',

[t -3.] [-t 3l
(d) If A = L, ,J and B : L_, _;j, then

A+B = 

-.(e) Partial tuirction of # is

3. Choose the correct answers : lx10:10

(a) The co-ordinates of the middle-point of the

line joining (-2,8) and (0,5) ls

(i) (-2,3) (ii) (6, 5)

(iii) [-r, ?) (iv) (ro, 5)
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lines, then

(i) mr>%

(iii) mr: m2

(i) 0

(iii) -l

(e) The straight

through

(i) (2,s)

(iii) (0,0)

25lSc- I 02fivlaths"I(N)

(ii) I

(rv)-l

(it) m,(,m, 
:

ta \(iv) mrrq - -l

(ii) €

(rO I

line 4x - 3y *'l ': 0 passes

(ii) (1,6)

(rD (3,4)

(b) The slope of the line joining (2,3) and (1,4)
is

I(i) T
3

(iii) Z

(c) If m, and q are the slopes of two parallel

(d) If the inclination of a straight line with the x
axis is 135", then the slope of the line is

(4)



(f) sin-r ("";) is equal ro

(i) 0

(ii) I

(iii) ;

(iv) None of the above

If sin e=!, then tan 0 is(e)

{(i) ;

4(iii) 
s

(h) l0th term of l,

(i) - srz

(iiD sr2

?(ii) ;

4(iv) 
3

-2, 4, -9, ....,.!...

(ii) le

(iv) -17

is
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(i) The determinant of order three contains

(i) 2 rows 3 columns

(ii) 3 rows 2 columns

(iii)3rows3columns

(iv) 2 rows 2 columns

C) The modulus of 8 6i is

(i) r/zs (ii) l0
/...\(iii) J-2 (iv) -10

4. Match the following : I x5:5

(a) Area of the prism (i) I*'n
(b) Area of the pyramid (ii) Area of the base

x height

(c) Volume of a prism (iii) Perimeter of the

base x height

(d) Volume of a pyramid (iv) 1/2 x perimeter of
the base x slant

(e) Volume of a cone

height

(v) ll3 x area of the

base x height
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PARI _ B

5. Answer any .firt questions : 2x5-10

(i) Prove rhat il ni;i=o

(ii) Insert one arithmetic mean between 3 and
20.

(iii) Find the vatue of r*1*1*l- 3 927
(w) How many numbers can be formed by using

4 out of the digits 1,3, S, 6,7, g, g ?

(v) Find the base if the logarithm of 324 is 4.

lz4 ol

(vi) Find rhe value of lt 2 tl

14 8 -rl

( xt.x, )(viD Prove ttrat [t+x*;*;+ )
(x2xt\
[.'-*+; -;+ )=r
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6. Answer any three questions :

(i) Find the co-efficient of xa in

(ii) Simpli$ :

rogS * roe$t * bs# -3logb2c

(iii) Solve by Cramer's rule :

4x - y + 2z: 10

5x + y _ z: I

,i+3y-22:--'7

(iv) If q b, c be in A.P. and x, y, z in GP.,

Prove that xb-{ Yt* z# :l

(v) lf nPu: 30. Po, find n

7. Answer any three questions : 3x3:9

(i) Show that the points (2,5) , (4,6) and (8.8)

lie 0n a straight line.

(ii) Find the equation of the straight line which

passes through (-1, 4) and perpendicular to

3x+4y+28:0

3 x3'=9

[,. -: )"
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(iv)

(v)

Find the length of perpendicular from the

origin on the line 2x-3Y + I - 0

Show that the angle between the lines

"6 y : x * 2 and .F +4 is 30"

Reduce 2x * 3Y - 5 : 0 to the intercePt

form and find x-intercept and y-intercept'

8. Prove (anY four): 3x4:t2

(i) sin 600" cos 330o + cos120o sin150o - -1

sinA l+cosA
,/..\(ll, l+cosA' sinA

sin(A+B)+sin(A-B)(iii) :16fi

*4=tanA
(iv) 1a"oga - 

re^' r

sin 3A cos3A 
- "(v) ri"A -;--='
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It-
I

sin60" + sin30"(vi)ffi

(vii) cos2Oo cos4Oo cos60o cos8Oo :

9. (i) The cross sectional area of a hurnel is as

I
16

Aflows :

Distance from

oneend: 0 3 6 9

Area 279 '30.6 33.8 32.4

Find the volume of the tunnel.

3

t2 15 18

30.7 27.9 26.t

(ii) The cuned surface area of a cone is
4070 cm2 and its diameter is 70cm. What

is its slant height ?

(Usen:22/7) 2
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